A C D E _ F
PAPER SIZE DRAWING NUMBER
B SIZE| GD—D1611SCEG
REV_ ] REVISION DATE [ Eco
[~ .375 REF A | 09-27-19 [D9044
ISTT———— 4 x 438 DVERLAPPING
3.00 REF T SQ@ HOLES
N | —— #.688 REF
- \.M‘
| 6.250 REF N
4.94 REF 8.063 REF
J
] ﬁu_l/ NOTES:
/ 1) ALL DIMENSIONS ARE REFERENCE AND IN
0438 REF SQ. INCHES.
HIlH C T
2) ALL ITEMS GALVANIZED PER ASTM A—153.
1.75 REF
STAKED CARRIAGE BOLT
HOLE FOR DGC—3 CONNECTOR
M ITEM NO. DESCRIPTION QUANTITY
\ ~ /J 1 BRACKET 1
) [ 2 3/8" FLAT SQUARE NUT 1
3 3/8" HEX NUT 1
4 1/2" X 2" CARRIAGE BOLT 1
5 1/2” SINGLE COIL LOCKWASHER 1
6.063 REF 6 1/2” EXTERNAL TOOTH LOCKWASHER 1
7 1/2” HEX NUT 1
8 GROUND CLAMP 1
9 3/8” X 1.5” CARRIAGE BOLT 1
10 3/8” ROUND WASHER 1
TOLERANCES DRAWN BY ENGINEER CHECKER CATALOG # SCALE DESIGN DATE
_____ UNLESS SPECIFIED wacLeav | DEK | DEK | FUS [MiIlGE NTS [02/12/07
is drawing contains confidential information that is the property of MacLean
ower, L.L.C. ("MacLean" se of MacLean's confidential information without| O YX | DRAWING TITLE DESCRIPTION DRAWING NUMBER
Fuohm%”%cﬂmﬁ éﬁ. no_ﬂoi ”mv%:om_v\ ?‘o::u“ﬁa m”_a Bhu\ mwiWo V\QM to ' 0.XX ml._“m“:mmx:ﬁm £
legal liability. If you believe that you received this material in error, please |~ [Q.XXX|---—————————-
(it ot return 1o "Mackean Power L1C. 11411 Addison. Frkin Pak, 0.XXX TS, | BRACKET,ARRESTER ASSY|6D-D1611SCEG
Illinois 60131, USA." DRAWING—COMPUTER LocATION: || ANGLE | ----——-—-————-

Form: 00_Baize / 03-22-05 |




